TESTRER—ER (INXHX)

TRSITER—E

(hnysEiex)

AIHRRE T A BR

AIFRRE T A BR

1ImEs iniER S£%%% T AR TR 8K (%)
[mg/100¢]
278 i 11.5 1.7
Zl BB 9.8 14
280 g 11.2 2.5
281 =M 12.6 1.9
282 = 13.1 2
283 AR 11.2 1.4
284 TP 13.8 1.9
285 M 15.2 3
286 AT 14.4 2
287 AT 12.8 2
288 B S 12 1.7
289 EELQR 11.2 1.4
290 =M 17.5 2.4
291 Epiild 12.3 1.7
292 FER 10.1 1.4
293 EpiD 15.5 2.3
294 AR 9.5 1.3
295 -yl 19.1 2.2
296 =M 15.1 36
297 RO 14.8 2
298 2T 16.7 1.4
299 N3t 13.9 0.6
300 EE 208 1.8
301 £+ I 223 3.1
302 IR 14 2
303 = 16.5 3.3
304 Gl 25.5 3.6
305 HE 24.4 1.9
306 HE 16 1.4
307 A 15.9 3
308 Ok 9.4 1.8
309 58 8.3 1.9
310 B 11.6 2.1
311 a2 5.9 0.8
312 BE 8.9 15
313 ) 7.6 1
314 £ 11.7 0.5
315 B)I1E 10.8 0.9
316 =E 15.2 1.9

[mg/100g] BB R [%]| 1ZHES DI EE2E (mg/100g] EBEER 1Y 8K (%]

9.0 1| 238 T 23.7 2.6

11.0 1.8 239 B 18.9 1.9

11.0 1 240 XH 15.3 1.8

13.0 2l 241 KH 17.9 2.5

12.0 1.3 242 X 12.8 1.4

10.0 1.3 243 X 19.7 1.8

13.0 1.3 244 X 14.3 1.6

11.0 1.2| 245 TRA 18.1 2.1

11.0 1.2| 246 TRA 17.2 1.3

10.0 1.6] 247 TRA 13.9 2.1

11.0 26| 248 Hitl 23.0 25

13.0 2.4 249 e 17.2 1.7

13.0 25| 250 e 19.5 2

14.0 1.7 251 EESS ] 16.0 2.6

16.0 21| 252 A 16.6 1.9

14.0 1.3] 253 A 14.7 1.3

214 R 12.0 1.7| 254 B 14.3 1.8

215 KB 11.0 1.6] 255 [N 27.1 2.8

216 A 10.0 1.7| 256 il 20.4 3.2

217 FRA 8.0 3.7| 257 il 13.5 1.8

218 FRB 13.0 2.8 258 il 15.7 3.9

219 BE 15.0 25| 259 il 32.9 1.6

220 B_E 10.0 1.5 260 B 12.5 1.6

221 N A 10.0 17| 261 ==l 12.6 2.9

222 R 14.0 17| 262 = 4R 15.9 2.2

13.0 1.2[ 263 838 17.0 2.5

11.0 28| 264 = 18.3 2.3

17.0 32| 265 TRTET M 15.2 2.6

6.0 09| 266 LG 12.0 2.3

18.0 3.7 267 EtE 12.5 1.9

228 KA 10.0 1.9 268 - R{EmE 20.4 2.5

229 R 16.0 1.4( 269 B 17.0 1.4

230 RidHH 10.0 1.5 270 R{EmE 14.0 1.7

231 W+ E 9.0 1.5 271 RE 15.6 2.4

R 17.0 28| 272 B 11.8 1.9

233 R 14.0 26| 273 KH 20.9 2.2

234 H+E 11.0 23| 274 =M 14.8 1.8

235 JE 10.0 1.9 275 K H 10.8 1.8

236 YRS 11.0 24/ 276 B 12.2 1.5

237 JEH 8.0 1.3 277 =EA 11.7 2.1
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